
ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ 

ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

VdT¦V 1453 TRD 611  

VDI 2035  
VdT¦V 1466 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȽɚɐɑɜɒɌəɔɑ 

Å ʏʘʩʪʴ 1 ʂʘʯʝʩʪʚʦ ʚʦʜʳ / ʆʩʥʦʚʥʳʝ ʧʘʨʘʤʝʪʨʳ 

 

Å ʏʘʩʪʴ 2 ʊʨʝʙʦʚʘʥʠʷ ʢ ʢʘʯʝʩʪʚʫ ʢʦʪʣʦʚʦʡ                                           

ʧʦʜʧʠʪʦʯʥʦʡ ʚʦʜʳ / ʥʦʨʤʘʪʠʚʳ 

 



Ⱥɍɓɚɜ, ɣɌɝɞɨ 1 

 

ȶɌɣɑɝɞɎɚ Ɏɚɐɧ / ɚɝəɚɎəɧɑ ɛɌɜɌɘɑɞɜɧ 

 

- ʚʝʱʝʩʪʚʘ, ʩʦʜʝʨʞʘʱʠʝʩʷ ʚ ʚʦʜʝ 

- ʞʝʣʝʟʦ / ʤʘʨʛʘʥʝʮ 

- ʞʝʩʪʢʦʩʪʴ ʚʦʜʳ / ʢʘʨʙʦʥʘʪʥʘʷ ʞʝʩʪʢʦʩʪʴ 

- ʢʠʩʣʦʨʦʜ  

- pH 

- ʵʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ 

- ʩʚʷʟʘʥʥʘʷ ʫʛʣʝʢʠʩʣʦʪʘ 

  
  

ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȮɑɥɑɝɞɎɌ, ɝɚɐɑɜɒɌɥɔɑɝɫ Ɏ Ɏɚɐɑ 

 1 ʅʝʨʘʩʪʚʦʨʠʤʳʝ ʚʝʱʝʩʪʚʘ 

 - ʯʘʩʪʠʮʳ ʧʝʩʢʘ ʠ ʛʨʷʟʠ 

 - ʚʟʚʝʰʝʥʥʳʝ ʯʘʩʪʠʮʳ 
 

 2 ʈʘʩʪʚʦʨʠʤʳʝ ʚʝʱʝʩʪʚʘ 

 - ʢʘʪʠʦʥʳ, ʥʘʧʨ., ʥʘʪʨʠʡ, ʢʘʣʠʡ, ʤʘʛʥʠʡ,  

   ʢʘʣʴʮʠʡ, ʞʝʣʝʟʦ, ʤʘʨʛʘʥʝʮ 

 - ʘʥʠʦʥʳ, ʥʘʧʨ., ʭʣʦʨʠʜʳ, ʢʘʨʙʦʥʘʪʳ, ʩʫʣʴʬʘʪʳ,  

   ʥʠʪʨʘʪʳ, ʛʠʜʨʦʢʘʨʙʦʥʘʪʳ 
 

 3 ʈʘʩʪʚʦʨʝʥʥʳʝ ʛʘʟʳ 

 - ʢʠʩʣʦʨʦʜ, ʜʚʫʦʢʠʩʴ ʫʛʣʝʨʦʜʘ 

 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȻɌɜɌɘɑɞɜɧ, ɚɖɌɓɧɎɌɪɥɔɑ 

Ɏɗɔɫəɔɑ 

pH 

ʪʝʤʧʝʨʘʪʫʨʘ 

ʜʘʚʣʝʥʠʝ 

 - ʨʝʘʢʮʠʠ ʨʘʚʥʦʚʝʩʠʷ 

 

 - ʨʘʩʪʚʦʨʠʤʦʩʪʴ ʩʦʣʝʡ 

 

 - ʨʘʩʪʚʦʨʠʤʦʩʪʴ ʛʘʟʦʚ 

 

 - ʠʟʤʝʥʝʥʠʝ ʩʦʩʪʘʚʘ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȺɝəɚɎəɧɑ ɠɌɖɞɚɜɧ 

Åɾʝʣʝʟʦ ʠ ʤʘʨʛʘʥʝʮ (ʦʙʨʘʟʦʚʘʥʠʝ ʰʣʘʤʘ!) 

Åʂʘʨʙʦʥʘʪʥʘʷ ʞʝʩʪʢʦʩʪʴ 

Åʉʦʜʝʨʞʘʥʠʝ ʢʠʩʣʦʨʦʜʘ  

ÅpH 

Åʕʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ 

Åʉʚʷʟʘʥʥʘʷ ʫʛʣʝʢʠʩʣʦʪʘ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ȳɑɗɑɓɚ ɔ ɘɌɜɏɌəɑɢ 

Fe
2+

 (ɜɌɝɞɎɚɜɔɘɧɕ) 

    

Mn
2+

 (ɜɌɝɞɎɚɜɔɘɧɕ) 

O
2
 

ɚɖɝɔɐ  

ɒɑɗɑɓɌ 

 

ɜɒɌɎɣɔəɌ 

 

! ʆʙʨʘʟʦʚʘʥʠʝ ʰʣʘʤʘ! 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ȳɑɝɞɖɚɝɞɨ Ɏɚɐɧ  

ȽɟɘɘɌ ɓɑɘ.-ɥɑɗɚɣəɧɡ ɘɑɞɌɗɗɚɎ  

(Mg
2+

, Ca
2+

) 

 

    

  + HCO3
- 

Ca2+ / Mg2+ 

 

  + SO4
2-/Cl- 

ʪʝʤʧʝʨʘʪʫʨʘ 

ʠʩʧʘʨʝʥʠʝ 

MgCO3 

 

CaCO3 

 

CaSO4 

 

CaCl2 

     ! ʚʦʜʥʳʡ ʢʘʤʝʥʴ ! 

     ! ʢʦʪʣʦʚʦʡ ʢʘʤʝʥʴ ! 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȼɌɎəɚɎɑɝɔɑ ɔɓɎɑɝɞɔ-ɟɏɗɑɖɔɝɗɚɞɧ 

Å ɽʩʣʠ ʚ ʚʦʜʝ ʨʘʚʥʦʚʝʩʠʝ ʠʟʚʝʩʪʠ-ʫʛʣʝʢʠʩʣʦʪʳ, ʨʘʩʪʚʦʨʝʥʠʝ ʠʣʠ 

ʚʳʧʘʜʝʥʠʝ ʠʟʚʝʩʪʠ ʚ ʦʩʘʜʦʢ ʥʝ ʧʨʦʠʩʭʦʜʠʪ 
 

Å ɽʩʣʠ ʨʘʚʥʦʚʝʩʠʝ ʩʜʚʠʛʘʝʪʩʷ ʚʣʝʚʦ, ʧʨʦʠʩʭʦʜʠʪ ʚʳʧʘʜʝʥʠʝ 

ʠʟʚʝʩʪʠ ʚ ʦʩʘʜʦʢ! 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ȼɚɞɑɜɔ ɩəɑɜɏɔɔ ɔɓ-ɓɌ 

ɚɞɗɚɒɑəɔɕ ɔɓɎɑɝɞɔ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȶɔɝɗɚɜɚɐ ɔ pH 

ɚɝəɚɎəɧɑ ɛɜɔɣɔəɧ ɖɚɜɜɚɓɔɔ Ɏ ɖɚɞɗɌɡ 

ʏʪʦ ʪʘʢʦʝ ʢʦʨʨʦʟʠʷ? 
(ʆʧʨʝʜʝʣʝʥʠʝ, ʜʘʥʥʦʝ ʚ DIN 50930) 

 

 Ăʈʝʘʢʮʠʷ ʤʝʪʘʣʣʠʯʝʩʢʦʛʦ ʚʝʱʝʩʪʚʘ ʩ 

ʦʢʨʫʞʘʶʱʝʡ ʩʨʝʜʦʡ, ʚʳʟʳʚʘʶʱʘʷ ʠʟʤʝʥʝʥʠʝ 

ʵʪʦʛʦ ʚʝʱʝʩʪʚʘ ʠ ʧʨʠʚʦʜʷʱʘʷ ʢ ʝʛʦ 

ʨʘʟʨʫʰʝʥʠʶ....ñ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ȼɜɔɣɔəɧ ɖɚɜɜɚɓɔɔ 

  ɺʦʜʘ (ʚ ʩʫʭʦʤ ʩʦʩʪʦʷʥʠʠ ʢʦʨʨʦʟʠʠ ʥʝʪ) 

 

  ɻʘʟʳ (ʢʠʩʣʦʨʦʜ, CO2  ʠʣʠ ʫʛʣʝʢʠʩʣʦʪʘ) 

 

  ʉʦʣʠ (ʵʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ!) 

 

 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȽɚɐɑɜɒɌəɔɑ ɖɔɝɗɚɜɚɐɌ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ƚɖɚɜɚɝɞɨ ɖɚɜɜɚɓɔɔ Ɏ  

ɓɌɎɔɝɔɘɚɝɞɔ ɚɞ pH 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ɉɗɑɖɞɜɚɛɜɚɎɚɐəɚɝɞɨ 

Å ʅʘ ʩʢʦʨʦʩʪʴ ʢʦʨʨʦʟʠʠ ʚʣʠʷʝʪ ʵʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ. 

Å ʅʠʟʢʘʷ ʵʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ ʧʨʝʧʷʪʩʪʚʫʝʪ ʜʚʠʞʝʥʠʶ ʵʣʝʢʪʨʦʥʦʚ 

Å ɺʳʩʦʢʘʷ ʵʣʝʢʪʨʦʧʨʦʚʦʜʥʦʩʪʴ ʫʩʠʣʠʚʘʝʪ ʧʦʪʦʢ ʵʣʝʢʪʨʦʥʦʚ 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȿɐɌɗɑəɔɑ ɝɎɫɓɌəəɚɏɚ CO
2
 / HCO

3

-
 

ʂʦʥʮʝʥʪʨʘʮʠʷ ʠʩʭʦʜʥʦʡ ʚʦʜʳ 

 

ɺʦʟʚʨʘʪ ʢʦʥʜʝʥʩʘʪʘ 

ʊʝʨʤʠʯʝʩʢʘʷ ʜʝʛʘʟʘʮʠʷ 

ʆʙʨʘʪʥʳʡ ʦʩʤʦʩ 

(ʜʝʢʘʨʙʦʥʠʟʘʮʠʷ) 

ʇʨʠʤʝʨ: 

ʀʩʭʦʜʥʘʷ ʚʦʜʘ 280 ʤʛ/ʣ CO2 = 18 dKH, 80% ʚʦʟʚʨʘʪ ʢʦʥʜʝʥʩʘʪʘ 

 

ʙʝʟ ʚʦʜʦʧʦʜʛʦʪʦʚʢʠ:   56 ʤʛ/ʣ CO2 

ʜʝʛʘʟʘʮʠʷ:   - 50%, 28 ʤʛ/ʣ CO2 

ʦʙʨʘʪʥʳʡ ʦʩʤʦʩ: - 97%, 1,7 ʤʛ/ʣ CO2 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

Ⱥɍɓɚɜ, ɣɌɝɞɨ 2 

 

   ȾɜɑɍɚɎɌəɔɫ ɖ ɖɚɞɗɚɎɚɕ 

ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɑ / əɚɜɘɌɞɔɎɧ 

 

è  VDI 2035  

è  VdT¦V 1453 

 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

VDI 2035  

ȻɜɚɠɔɗɌɖɞɔɖɌ ɛɚɎɜɑɒɐɑəɔɕ Ɏ 

ɝɔɝɞɑɘɌɡ Ɏɚɐɫəɚɏɚ ɞɑɛɗɚɝəɌɍɒɑəɔɫ 

Åʏʘʩʪʴ 1:  

 ʆʙʨʘʟʦʚʘʥʠʝ ʢʘʤʥʷ ʚ ʚʦʜʦʥʘʛʨʝʚʘʪʝʣʷʭ ʠ 

ʩʠʩʪʝʤʘʭ ʚʦʜʷʥʦʛʦ ʪʝʧʣʦʩʥʘʙʞʝʥʠʷ 

 

ÅTeil 2:  

 ɺʦʜʥʘʷ ʢʦʨʨʦʟʠʷ 

 

ÅTeil 3:  

 ɻʘʟʦʚʘʷ ʢʦʨʨʦʟʠʷ (ʟʜʝʩʴ ʥʝ ʨʘʩʩʤʘʪʨʠʚʘʝʪʩʷ) 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȭɚɗɨɤɚɑ ɖɚɗɔɣɑɝɞɎɚ ɝɚɗɔ 

 

ɻʨʫʧʧʘ  ʄʦʱʥʦʩʪʴ ʢʦʪʣʘ  ɺʦʜʘ ʜʣʷ ʥʘʧʦʣʥ. ʠ ʧʦʜʧʠʪʢʠ   ʆʪʦʧʠʪʝʣʴʥʘʷ ʚʦʜʘ 

   (CaHCo)   ʢʘʨʙʦʥʘʪ.        pH         ʩʫʣʴʬʠʪt     LF 

 (ʢɺ)   (ʤʦʣʴ/ʤį)            ʞʝʩʪʢʦʩʪʴ (d)         *(ʛ/ʤį)     Õʉ/cʤ 
 

0  Q < 100   ʥʝʪ          8,3-9,5              ʤʘʢʩ. 1000     

   ʪʨʝʙʦʚʘʥʠʡ                              

 

1  100 < Q < 350  2   11,2        8,3-9,5   10-20  ʤʘʢʩ. 1000 

 

2  350 < Q < 1000  1,5   8,4        8,3-9,5   10-20  ʤʘʢʩ. 1000 

 

3  1000 < Q   1 ï 0,5   5,6 ï 2,8        8,3-9,5   10-20  ʤʘʢʩ. 1000 

            ʧʨʠ ʧʨʠʤʝ- 

                                                                                                      ʥʝʥʠʠ  

            ʘʣʶʤʠʥʠʷ 

            ʤʘʢʩ. pH 

            9,0. 

ȸɌɗɚɑ ɖɚɗɔɣɑɝɞɎɚ ɝɚɗɔ 

 

0-3  ʜʣʷ ʣʶʙʦʡ  

 ʥʦʤ.ʤʦʱʥʦʩʪʠ  < 0,1   < 0,1        8,3 ï 9                < 100 

 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

ȹɚɜɘɌɞɔɎɧ ɐɗɫ ɛɌɜɚɎɧɡ 

ɖɚɞɗɚɎ, ɔɓɗɚɒɑəəɧɑ Ɏ   

VdT¦V 1453 

 



ȻɚɐɏɚɞɚɎɖɌ ɖɚɞɗɚɎɚɕ ɛɚɐɛɔɞɚɣəɚɕ Ɏɚɐɧ 

 

ȮɚɐɚɛɚɐɏɚɞɚɎɖɌ ɔ ɘɑɞɚɐɧ ɚɣɔɝɞɖɔ 

 

- ʋʜʘʣʝʥʠʝ ʞʝʣʝʟʘ / ʤʘʨʛʘʥʮʘ 

- ʋʤʷʛʯʝʥʠʝ 

- ʆʙʨʘʪʥʳʡ ʦʩʤʦʩ 

- ɼʦʟʠʨʦʚʘʥʠʝ / ʢʦʥʜʠʮʠʦʥʠʨʦʚʘʥʠʝ 

- ɼʝʛʘʟʘʮʠʷ 

 










